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W, =Fd coséd, = (10)(2) cos0 = 20J

, = F,d cosé, = (50)(2) cos30 =86J

, cosd, = (20)(2) cos120 = -20J

. coséd, =(5)(2) cos180 =-10J

=W AW, WL HW,
\_>1200 c0s120 = —cos60 =-0.5 =20+86-20-10=76J

d

F, = 20N F, =50N
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W, >0=K,>K, =V, >V,
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W, =0=K, =K, =V,=V,
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W, <0=K, <K, =V, <V,
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F, =10N F, =20N W, =Fd cosé, = (30)(2) cos 0 = 60J
W, =F.,d cosé, =(20)(2) cos30 =34.4J
F=30N { W,=Fd cosé, =(10)(2) cos120 = —10J
W, =60—10+34.4 =84.4]

W, =K, -K, =W, =%mv22 —%mvl2 =

84.4 =%(4)\/22 —%(4)(0) L BA4=N DV =847'4= 1225V, =J422 =6.4m /s




W, =Fd cosé, =(20)(10) cos60 =100J
W, =F,d cosé, =F,(10) cos0 =10F,
W, =100+10F,

K, =1mv12 :1(20)(2)2 = 40J
2 2
1 » 1 2

K2 :Ern\/2 :E(ZO)(4) :160J

W, =K, —K, =100+10F, =160—40 = 10F, = 20 = F, = 2N




